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SAMPLE QUESTION PAPER  

Class VIII 

Subject – Social Science 

 

General Instructions 
1. All questions are compulsory. 
2. Questions from serial number 1 to 8 are 1 marks MCQ questions. 
3. Questions from 9 to 19 are of 3 marks each. 
4. Questions from 20 to 22 are of 5 marks each. 
5. Question number 23 is a map based question of 4 marks. 

 

Q.1. In which family was Birsa born? 

a) Munda family 
b) Victim’s family 
c) Educated family 

      बफयसा का जन्भ ककस ऩरयवाय भें हुआ था ? 

(अ) भुुंडा ऩरयवाय 

(फ) ऩीड़ित ऩरयवाय  

(स) शिक्षऺत ऩरयवाय 

Q.2. The word Shintz in English is derived from which Hindi word? 

      (a) shint (b) splinter (c) sheet 

     अुंगे्रजी भें शिुंटज िब्द हहुंदी के ककस िब्द से ननकरा है। 



(अ) शिुंट (फ) छ ुंट (स) िीट 

 

 

Q.3. The protection of women from domestic violence  act came into effect?  

(a) 2004  (b) 2005   (c) 2006 

 भहहराओुं की सुयऺा हेतु घयेरु हहुंसा अधधननमभ कफ ऩारयत हुआ ?   

(अ) 2004 (फ) 2005   (स) 2006 

Q.4. What was the population of the world in 1999? 

 (a) 1 billion (b) 3 billion (c) 6 billion 

1999 भें ववश्व की जनसुंख्मा ककतनी हो गई थी? 

(अ) 1 अयफ  (b) 3 अयफ ( c) 6 अयफ 

Q.5. Where is the Silicon Valley located?  

(a) Bangalore (b) California (c) Ahmedabad 

शसशरकॉन घाटी कहाुं अवस्थथत है? 

(अ) फैंगरोय  (फ) कैशरपोननिमा (स)  अहभदाफाद 

Q.6. Meaning of golden thread. 

(a) Tea (b) Cotton (c) Jute 

सुनहया येिा से अशबप्राम है। 

(अ) चाम  (b) कऩास  (स) ऩटसन 

Q.7. Which gas started leaking from Uni Carbide in 1984? 

(a) Carbon dioxide (b) Nitrogen (c) Methyl isocyanide 

मूनन काफािइड से कौन सी गैस 1984 भें रयसने रगी? 

(अ) काफिन डाइऑक्साइड (फ) नाइट्रोजन (स)  शभथाइर आइसोसामनाइड 

Q.8. What is lacking in Chennai? 

(a) Food (b) Water (c) Employment 



चने्नई भें ककस चीज की कभी है। 

(अ) बोजन  (फ) ऩानी  (स) योजगाय 

 

Q.9. Why did Mahatma Gandhi take decision to break the salt law? 

भहात्भा गाुंधी ने नभक क़ानून तो़िने का पैसरा क्मों शरमा? 

Q.10. What did Ambedkar want to achieve in the temple entry movement? 

भुंहदय प्रवेि आुंदोरन भें अुंफेडकय क्मा हाशसर कयना चाहते थे? 

Q.11. Why did Mahatma Gandhi think that English education had enslaved            
Indians? 

भहात्भा गाुंधी ऐसा क्मों सोचते थे कक अुंगे्रजी शिऺा ने बायतीमों को गुराभ फना हदमा है? 

Q.12. What types of clothing were in demand in Europe? 

मूयोऩ भें ककस तयह के कऩ़िों की भाुंग थी? 

Q.13. What were the reasons for the unequal distribution of population in the 
world? 

ववश्व भें जनसुंख्मा के ववतयण के असभान ववतयण के क्मा कायण थे ? 

Q.14. Differentiate between agro based industry and mineral based industry. 

कृवि आधारयत उद्मोग एवुं खननज उद्मोग भें अुंतय फताओ। 

Q.15. How does the government help the farmers in agricultural development? 

सयकाय ककसानों की कृवि ववकास भें ककस प्रकाय भदद कयती है? 

Q.16. Why is petroleum called black gold? 

     ऩेट्रोशरमभ को कारा सोना क्मों कहा जाता है? 

Q.17. Why do we need Judiciary? 

हभें न्मामऩाशरका की आवश्मकता क्मों ऩ़िती है? 

Q.18. Define marginalization . 

हाशिमाकयण  को ऩरयबावित कीस्जए। 



Q.19. What are the advantages of foreign companies opening their factories in 
India? 

ववदेिी कुं ऩननमों को बायत भें अऩने कायखाने खोरने के क्मा पामदे हैं? 

Q.20. What are public facilities? Give any three examples. 

जनता सुववधाएुं ककसे कहते हैं? कोई तीन उदाहयण दीस्जए। 

Q.21. Describe the factors affecting the location of industries. 

उद्मोगों की अवस्थथनत  को प्रबाववत कयने वारे तत्व का वणिन कयो। 

Q.22. The final wave of annexations occurred under Lord Dalhousie who was 
the governor general from 1848 to 1856. He devised a  policy that come to 
be known as the doctrine of lapse. The doctrine declared that if an Indian 
ruler died without a male their his kingdom would “lapse” that is become 
part of company territory. One Kingdom after another was annexed simply 
by applying this doctrine : Satara 1884, Sambalpur 1850, Udaipur 1852, 
Nagpur 1853 and Jhansi 1854. 

अधिग्रहण की आखिरी ऱहर 1848 1856 के बीच गवर्नर जर्रऱ बर्े ऱॉर्न र्ऱहौजी शासर्काऱ 
में चऱी। ऱॉर्न र्ऱहौजी र्े एक र्ई र्ीति अपर्ाई जजसे ववऱय र्ीति का र्ाम दिया गया। यह 
ससदिाांि इस िकन  पर आिाररि था कक ककसी शासक की मतृ्यु हो जािी है और उसका कोई 
पुरुष वाररस र्हीां है िो उसकी ररयासि हड़प कर ऱी जाएगी यार्ी कां पर्ी के सांभाग का दहस्सा 
बर् जाएगी । इस ससदिाांि के आिार पर एक के बाि एक कई  ररयासिें सिारा 1884, 
सांभऱपुर 1850,  उियपुर 1852, र्ागपुर 1853 और झाांसी 1854 बर्ी। 

(a) Who was the governor general of India from 1848 to 1856? 

1848 से 1856 तक बायत के गवनिय जनयर कौन थे? 

(b) What is doctrine of lapse? 

ववरम नीनत क्मा थी? 

(c) Name the kingdom which were annexed on the basis of doctrine of 
lapse. 

ववरम नीनत के आधाय ऩय कौन-कौन से याज्मों का ववरम ककमा गमा? 

Q.24. On the outline map of India Mark the following :  

(a) Jhansi             (b) Delhi            (c) Lucknow      (d) Kanpur 



बायत के भानधचत्र ऩय ननम्नशरखखत को दिािइए। 

(अ) झाुंसी               (फ) हदल्री            (स) रखनऊ         (द) कानऩुय 
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1.A Munda family 
2.B. Splinter 
3.B 2005 
4.B 3 million 
5.B. California 
6.C jute 
7.C mythele isocyanide 
8.B Water 
9.i.tax burden on general masses 
ii. disobey of British rule 
iii.to aware the people 
10. i it denotes equality 
ii. right  to religion 
iii.no discrimination on any ground. 
11.i British introduced the western education 
ii.  education was not related with Indian culture 
iii  .the policy of lord Macaulay 
12.i.quality cotton cloth 
ii  .demand of indigo 
Iii .raw material jute. 
13.i environment  
ii. fertility of land  
iii transportation  
iv availability of resources 
14. A gro based 
i textile  
ii .Sugar industry  
iii .Rubber industry  
Mineral based 
i iron and steel 
ii .Aluminum 
.iii .Oil sector 
15.i providing loan 
ii. subsidiary in seeds 
iii. fertiliser 
iv irrigation 
16.i.because petroleum is very precious mineral 
ii.it is connected with transportation 
iii.used in various types of industries 
17. i..To get the justice 



ii. To protect fundamental rights 
iii. To Stop the dispotic rule 
18.i marginalisation means to keep away from the main stream 
Ii .it   means that the people who are economically, socially and educationally backward 
19.i .to have a big market 
ii .large number of consumers 
iii.cheap labour 
iv cheap raw material 
20.public facilities means the facilities which related to daily life provided by the government  
Water 
Electricity 
Hospital 
School 
21.i capital 
ii labour 
iii raw material 
Transportation 
Water  
Markets 
22.A Dalhousie  
      B doctrine of lapse 
       C.i sambalpur 
          ii.udaipur 
          iii.nagpur  
          iv jhansi 
23 .map  
i.Janshi 
ii delhi  
iii.Lucknow 
iv Kanpur  
 

 

 

 

 

 

 

 

 

 

 



 

 

CLASS 8 GEOGRAPHY CHAPTER 6 HUMAN RESOURCE  

 

GRAPH BASED QUESTIONS 

 

Fig.6.2 : World’s most populous country 
 

Question:  
Which country from the above options have the most population ? 



a) USA  

b) China  

c) India  

d) Pakistan 

Answer:  
b) China 

 

Question: ji 
Which country from the above options have the least population ? 

a) Japan 

b) India 

c)Russia 

d) Brazil 

Answer: 
a) Japan 

 



Fig. 6.6 : population pyramid 

Question: 
Which age group from the above options have the more population? 

a) 0-4 

b) 15-19 

c) 55-59 

d) None of the above 

Answer: 
a) 0-4 

Question: 
Which age group from the above options have the least population? 

a) 70-74 

b) 65-69 

c) 85+ 

d) 35-39 

Answer:  
b) 85+ 



 

 
 

 

 


